(]

ik

%o 5} 85% whel el ©)

Ly

..

W] ol 4 414 shed o
12 ofu| @ 4 9lcl

TARXRYS A2

WL
T

S

7
ok

B TRE

~:

(=]

94

HLF

e}

35 AT

3.

= 9l =]

o] AR FARAZ 4

~N

el

A
s

o

{ 7k =}

-
S

4.

AHES

2.4M

2
©

o]

L

Loy

Eqadelle 7159 EAnkg AHg3ke},

1 74 =}

&
2.1M

ES

.8M

1Bx12

of #lid == 2%

2) A& £5%

(1) 1M=100cm

— 58—

1.5M

1.2M

.9M

A EA ) 4

1) EWFEe A

(8x1)

5.



(1) 1 M=]UUcm

(2)

A &A1& £ 5%

&

2) EHTR FH

2.4M

L.2M 1.5M

9IM

™

2.IM

AP

2.1x2.2

1.8M

e

0

11

11

W8T

W2

W22

W2

3.3M

3.0M

2.7M

3.6M

3.3x2.1

W81

Wo'e

W12

Wée

Wv?e




Aded B b (b8l )
+ 2 EINNY z = 4 ) 2
# A 190 90 57 oF& 72 %= 100kg/cm? ©] A}
3 £ A +3 +3 +4 F4+% 13% °lst
2) ig%g (p‘__?,] .%)
T * 2 o] = o] 5 A s} ar
290 150 90 b2 7 £ 60kg /em?® o1 4
T A -
290 100 90 _
4% 16% ol 5t
3 & A + 4 4 + 4
el
3) AHE HS (%
= 2 | 2 e z = v 2
+ A 190 90 57 9} & 7 5 50kg /em? o] A
+ 3 + 3 + 3
& =]
# - 2 - 2 - 2
4) AHE EE CORLA
=)
- U o = A ] =
1% 290 190 190 AEAE
390 190 190 40kg/cm? ©) A+
290 190 150
150
390 190 150
90
100 2 190 100
390 190 100
3 & = + 2 + 3 + 2

W LW Rk

HE Lt A ARE

2|7} FEsFstct LRI SRt

AmEELnS |




